29 316
53 ] 4
25 29 5
I
25 29 10
75 H25 65 H29
12 143 H25 125 H29
I
H25 H2 7 H2 9
H25 H25 0.0 5.0 10.0
75 70 65
12
143 135 125
83 83 0 0 0 00
H3 H 8 H2Z H 8 H9
b 3 - Al 0. 8m8 k 76
£ 3- A 0. 6n9 k 18
E3- A3 1. 4n7 k 28
E3- M 194 m3k 75
3 - A4 1. 7m k 13
b 3 - A4 0. 4m k 15
b 3 - A7 0. 4nmd k 67
83
] L |
[ H8 | Ha HZ2 | H8 HQ
0
H3 | HB HZ2 | H8 HQ
0
H3 H 8 H2Z H8 H9
0




(g+h) /l (c+

d)

H2 6 H2 7 H2 8 H2 9 H30
77 61 86
0 0 0
c=a+h 77 61 86

4 2 0
79 63 71
2 0 15
2 0 8

g

c+d-e-f 0 0 0
2. 5% 0. 0% 9. 3%

10




53

29

25




25

12




